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Q1 Solve 2}1(0_ 1 _Ex =3
e 10 =38 Zx")=3>e<27<-')
................................... 0% - 6x +3 = 62" —3x
.................................................. 4x+32 = bxt—3Ix
e O = 6x" -1x =3
e O 7Gxt 422~ — 3
L S O = 2x(3x+) ~3( Iz
............................................................... O .= (2<=3)3=+1)
2 = Tl T
z>=3 5= ’(( Answer ....... D(:.—?’— ......... x :_—(—"
~ =3 x= '3 27 3 (Total 6 marks)
3
Q2.  Simplify fully 1?;1%?{ lg >C?_ — 1 Zae

_ ‘3 ¢ (Total 4 marks)
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Q3. The rule for this sequence is that each term is the mean of the two previous terms.

X+y
a X y 5 b
(a) Find an expression for a in terms of x and y.
WE AEX 5 2y T AkA

ANSWET ..o e e
(2
(b)  Find an expression for bin terms of x and y.
Simplify your answer.
-+
b = '3 + u 234—x+3
............................................................................... R 25
~ 2
...................................................................... '2,
2
Answer 13" ........ 3‘3*( ........
e
4 (Total 4 marks)
Q4. (a) (i) Factorise X-x-2 = ( 20 +1 )()L -2 >
ANSWET ..oviiiiiiiiee e
(2
(i) Hence, solve X —x—2=0 C ¢ '*"‘)C > "Z) =0
.......................................................................... Q_.c,_
ANSWEr ..o e, Jooees x=+2
(1)
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(b)  Simplify %7 + e

(ot (%-2)
= 4=
Answer ..o ...
-2 (3)
CZ‘H)( ) (Total 6 marks)
Q5. Solve the equation L i =1
x+1 x-=1

X = - 3
Answer ..............: == -1 .
J (Total 5 marks)
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